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Note : Attempt any five questions and all questions carry
equal marks.

1. (a) Define and compare strategic and operating 10
decisions.
(by Explain major factors affecting process 10
design decisions.

2. (a) Compare and contrast Product focussed, 10
Process focussed and Group technology
process Designs

(by Discuss the relationship between Process 10
Design and Product Design.

3. (a) Compare Product layouts and Fixed 10
Position layouts by giving examples.
(b) How do we design service facility layouts ? 10
Explain by giving example of a Bank
Branch.
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(b)

(b)

(b)
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Explain and differentiate Breakdown
maintenance Preventive maintenance.

Explain stepwise as to how we determine
labour standard time by using stop watch
time study.

Compare MRP-I and MRP-II with the help
of suitable examples.

Demand of an Item X is normally
distributed with a mean of 693.7 kg and
SD of 139.27 kg. What is EDDLT for Item
X ? What is oppr ? If the production
manager specifies a 95% service level during
lead time, what safety stock should be
maintained ?

Note : A table has been provided in this
regard at the end of the question paper.

What is the difference between Push and
Pull Approach of production planning
system ?

What are ISO 9000 standards ? How do
they help in improving gravity of product
and services ?
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7.  Write short notes on any four of the following :

(a)

Sampling techniques.

KAIZEN.

ABC and VED classification.
PDCA cycle.

Forward and Backward scheduling.

Concurrent Engineering

20

8. What do you mean by Enterprise Resource 20

Planning (ERP) system ? Explain with the help

of suitable example. How it is different from

Computer Integrated Manufacturing System
(CIMS) ?
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